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IIpunoxenne 1.

No YcnoBue

! (A+B)? —(A* +2AB + B?)=...
2 (A-B)(A+B)— A +B?=...

3 (A+B)*—(A*+B%)=...

4 (A-B)*—(A*+B*)=...

5 A’ -2AB+B*-(A-B)’=...

6 (A-2B)(A+2B)— A +4B*=...
7 9A’ +B*-(3A+B)’=...

8 (2QA-B)? —4A’ -B’=...

9 (3A+2B)* —9A* —4B*=...

10 A’ +4B* —(A-2B)*=...

1 (A+B)*—2AB-B’=...

12 (A-3B)* - (A’ -6AB+9B%)=...
13 (A-B)* +2AB-=...

14 A’ -B’*+(B-A)B+A)=...
15 B?—4A’—(B-2A)B+2A)=...
16 (A+B)*—2AB-=...

17 4A° —8AB +4B* —4(A-B)’=...
18 BA+ AB +(A—-B)’=...

19 A’ +4AB +4B% —(A+2B)’=...
20 (2A+B)? —(B*+4AB + 4A%)=...
21 (2QA-B)* —(4A>—4AB +B*)=...
22 A’ —B? - (A+B)(A-B)-=...
23

A’ +B* - (A+B)’=...




24 A’ +B* - (A-B)’=...

25 AB +BA-(A+B)*=...

26 (3A-B)*—(9A> +B?)=...

27 (B+3A)> —3(AB + BA)-=...

- (A+BY g

2
29 (A-B)* —(B*-BA)-...
30 (A+B)> —(AB + A?)=...
IIpunoxenne 2.

01 02
-3 -3 4 -1 -5 1 2 -1
4 4 1 5 5 13 1
-1 0 -2 3.6 -2
-5 -3 0 2 -3 0 1 -4

03 04
4 -1 4 3 -2 -2 -4
2 =2 =20 0 4 4
35 -1°5 4 -3 4
-1 -4 3 3 -2 -4 -5

05 06
3 -5 -1 3 -2 5 -5 3
1 5 1 5 31 -1 2
6 -1 2 0 5 4 5
-3 -3 0 4 -4 2 5 5
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08

10

-2

-2

12

-2 -3

2 4

14

16

—4 -1

4

07

~3 -4 4

3

-2 0 2

4

09

11

4 -2 -1

—4

13

15

—4

-5 0
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18

-1

4 -2
-6 -3 -2

2
-2

-3 -6 -2

—4

20

22

-1 -3 -4

-2

24

-2

0 -2
-3 -2 -1

-1
-3

-3 -6 -5
-2

—4

~4 0

26

17

-2 5 -1

0

19

-3 -5 -5

-2

21

—4 -3 -2

-2

4 -2 -6

—4

-6 -5 -6

-5

23

25
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27 28
5 5 4 2 1 1 4 3
0 2 4 3 2 3 1 0
-2 -6 -6 -4 -4 -6 -4 -1
4 3 -3 5 -1 4 -4 -5

29 30
1 1 3 2 1 4 3 1
1 3 1 2 -1 0 -2 5
-1 -1 -5 =2 -6 -3 -4 -2
-3 -3 -3 0 5 -1 4 =2

IIpunioxenue 3.

01 02
— X, —5X, +3X; =4, X, +3X, — X5 =8,
2%, +3X, +2X%; =18, 5%, —2X, +5X; =6,
—2X, +6X, — X5 =5. X, +2X, =6.

03 04
5%, —2X, —2X; =-16, 5%, +5X, +4x, =31,
2%, =X, ==5, 53X, +X, =X3 =3,

X, = 2X, +4%; = 4.

X, + X, =3.

05
X, +4X, +X; =13,
X, +X3 =3,
4X, — X, +5%X; =24.

06
2%, +4X, —2%; =0,
35X, +X, +4X; =9,
3X, = 3%, + X3 =14.




07 08
—2X, +2X, =X; =13, 3X, +4X, +3X, =4,
X, +4X, +4x, =7, 5%, +X, — 2%, =15,
2X, + X, —=3%X; =—11. 2X; +6X, =X, =12.
09 10
=X, +3X; =-38, 4X, —4X, —5%X; =-9,
=X, —2X, —2X; =6, 4X, + 5%, + 5%, =-30,
2X, —3X, + X; =8. 3X, — X, +3X%; =-25.
11 12
X; =X, —3X%; =11, 5%, —2X, +5x%; =23,
5%, +3x, =10, =X, +4X, +X; =5,
6X, —2X, +6X; =—6. X, +3X, =X3=2.
13 14
X, +X, =X; =3, 2X, + X, =5,
- 2X, =X; =1, X, —2X, +4X%; =9,
2%, = 2X, = X3 =—1. 5%, —3X%, + 2%, =20.
15 16
—2X, =5X, +5X%; =13, X, +X, =2,

=X, +5X, = 2X; =-7,
4%, + X, +4x, =16.

4%, +2X, +3X; =9,
4%, + X, +5%; =9.

17
5X, —4X, + 5%, =-1,
3X, —2X, +X; =3,
4x, +3%x; =-10.

18

X, +5X, +3X; =5,
=X, +4X, —2Xy =-3,

3X, +2X, —2X; =-13.

19
—2X, +5X, —2X; =-12,
—2X, +3X, +4Xx; =22,
2X, —3X, +4x; =18.

20

—4X, =X, +X; =5,
2%, =X, +4X%; =13,
2%, +3X, —=2X; =9.

329



21 22
S5X, =X =7, =X, —4X, +4X; =1,
—2X, +X, —2X; =5, 4X, =X, =X, =15,
4%, +3X, —=3%, =19. 3%, —3x, =15.

23 24

5%, —4X, +3X; =39,
3X, +2X, + 2% =20,
2% + X, + X3 =12,

X, +3X, —=5X; =—-14,
5X, +4X, =X; =17,
X; =X, +2X;=9.

25
—5X, —4X, +4x; =45,
5X; =X, +4Xy =-2,
2X, =X, +3X3=7.

26
3X, +5X, —5%X; =12,
X, +2X%, =1,

S5X, +5X, +4x, =-8.

27

5X; —3X, =3X; =9,
3%, +2X%, =9,

5X, +5X, —3x%; =25.

28
—2X, —4X, + 5%, =13,
=X, +2X; =3,
—2X, +3X, =3%; =7.

29 30
3X, +5X, +2X; =6, —4X, +X, +X; =2,
2X; —2X, +5X%X; =24, —X; +4X, +X; =2,
—X; +6X, +2X; =1. 2%, — X, +3%X5 =12.
IIpuioxenne 4.
01

2X; + X, +3X%; + X, +2X5 =0,
= 2%, =X, +5X; + X4 —2X5 =0,
4X, —3X; + 3%, = 3%, =0;

X +2X, +2X; +5X, =2,
3X, +3X; +3X, =1,
X, + X, +3X; +4x, =3.
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02
3X, + X, +5X; +4X, +2X5 =0,
2X, + 5%, +X; +4X, +X; =0,

S5X; +5X, X3 +4X, =2,
4%, + X, + X5 =0,

— X, +5X, +3%; +6X, —3Xs =0; |—X, —X; —2X, =3.

03
3%, + X, +4X; +5%X, + 3%, =0,
S5X; —X; +4X, +X5 =0,
S5X; +3X, —2X; —2X, — X5 =0;

3X, +2X, +5%; +3X, =1,
=X, +3X, +4X; —2X, =3,

—2X, +6X, + X5 —3X, =-2.

04

X, +5X, +5X; +3X, +4X, =0,

3X, +5X, +2X; —X; =0,
3X, —2X; —X5 + X, —3X5 =0;

X, +4X, +2X; +4Xx, =2,
X, +5X; =X, =—1,
6X, +2X; —2X, =2.

05
3X, +2X, +3X; +4X, +X5 =0,
3X, +3X; —2X, +2X5 =0,
2%, +5X, +6X; +3X5 =0;

S5X, +X, +3X; + 5%, =3,
4X, +3X, +4X; +5X, =1,

= 2X, +2X, +5X; —3X, =-3.

06
S5X; + Xy +4X; +2X, +2X, =0,
4, +2X, —2X%; =0,
3X, +3X, + X3 + X5 =0;

4%, +X, +X5 +X, =4,
S5X; +5X, +2X; +4X, =3,
4%, —3X, +4Xy +2X, =2.

07
5X; +4X, +X; +2X, +5X5 =0,
X, +4X, +5X; — X, +4X; =0,
4%, —3X, = X3 — X, —3X5 =0;

3X, +X, +X5 +4X, =5,
X; =X, +5X; =X, =4,

—2X, +5X, +3X; —2X, =6.

08
X; + X, +3X; + X, +2X5 =0,
—2X; —2X, =X3 + X, —X5 =0,
—2X; — X, —=2X, +4X; =0;

2X; +4X, X5 42X, =2,
5X, +3X, +3X; —2X, =0,
— X, +6X, —2X; —3%, =-1.
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09
3X, +4X, +3X; + 5%, +X5 =0,
3%, +4X, +2X; +3X, + 5%, =0,
4X, —3X, +2X; + X, +5X5 =0;

2%, +3X, +5X; +3X, =1,
X; + Xy + X3 —2X, =2,
= 3%, +4X; +5%, =1.

10
2X, +2X, +3%; + X, +2X5, =0,
=X, —2X5 + X, +2X5 =0,
5X; +4X, —2X; +6X, —3Xs =0;

5%, +4X, +5%; +3%X, =5,
=X +2X, =Xy + X, =2,
4%, + X, + X3 =4,

11
X, +4X, +2X; +3X, +4X, =0,
3X, +2X, +4X; +3X, +3X, =0,
6X, — X, —2X; +6X, + X, =0;

4X, +2X, + 5%, +5X, =35,
=0,
X, +3X, + X, +2X, =-3.

SX, + 2%, — X,

12
5%, +3X, +5%; + X, +3X; =0,
4%, +2X, —2X; + X, — 2% =0,
3X; — X, +4X; +6X5=0;

X +X, +4X; +X, =1,
2X; = 2X, +4X5 — Xy =2,
X +2X, + X3 =2.

13
2X; + 5%, +3X; +4X, +X; =0,
=X, +5X, +X; —2X5 =0,

—2X, +2X, + 6X; —3X, +4X; =0;

4X, +3X, +X; +4X, =2,
X, —2X, +5X, =1,
2X, + X, + 5%, =3.

14
S5X, + X, +4X; + X, +4X5, =0,
4X, +2X, +5X, +4X5 =0,
3X; +4X, + X3 +3X, +2X; =0;

4X, +2X, +4X; +3X, =4,
=X, =X, +3X; +5X, =1,
4X, +3X; + 3%, =35.

15
4X, +4X, +4X; +2X, +5%; =0,
2%, +4X, —2X; =X, +4X5 =0,
4X, +3X, +4Xy + X, +5X; =0;

2X; +3X, +4X; +4X, =3,
2%, — X, +5X%3 — X, =3,
2X, +2X, +4X; =2.
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16

4X, +4X, +X5 +2X, +4X5 =0,
2X; + X, +X; —2X, +2X5 =0,
=X, +2X, +6X; +4X, +4X; =0

X, +2X, +4X; +X, =1,
4%, +4x, — X3 — X, =0,
;oIX 2%, +6X; =X, =1.

17
5%, +3X, +4X; +5%X, +X5 =0,
=X —2X, +2X; +2X5 =0,

6X; +4X, —3X; =0;

3%, +2X, +3X; +2X, =4,
3X, = X3 4%, =—1,
4X, +3X, +6X; +4x, =6.

18
2X, + 5%, +5%X; +3%X, +4X; =0,
X; +2X, =X3 —2X, —X5 =0,
—2X, +5X, = X3 =3X, +6X5 =0;

2%, +3X, +3X%; +X, =3,
=X, +3X, + X5 +3%X, =0,
3X; + X, +6X5 +2X, =5.

19
2X, + X, +3X; + 5%, +4%, =0,
2X, +5X; +2X, +2X5 =0,
2X; +2X, —3X; —3X, +5X5 =0;

X, + 5%, +1X; +2X, =2,
=X, + X, +2X; =0,

— X3 +2X, =1.

20
2X; + X, +4X; +5X, +5X%; =0,
53X, +3X, —=X; +5X, —2X5 =0,
4X, +6X, — X, +4%5, =0;

2X, +X, +5X; +X, =4,
44X, +2X, +2X; =3,
3X, + X3 =X, =1.

21
3X, +3X, +X; +3X, +2X5 =0,
X +3X, =X; =X, =0,
=X, +4X, +2X; — X, +5X5 =0;

X, +5X, +X5 + 35X, =3,
5X; + X5 +5X%, =4,
3X, —2X, + X3 =0.

22
4%, +5X, +5X; + X, +X5 =0,
Xy +3X; +5X, —2X5 =0,
5%, +5X; —2X; +5X, +5X; =0;

S5X, +5X, +5X%; +3X%, =1,
4X, +4X; +5X, =2,

—3X%, +4X, +2X; + 5%, =0.
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23
S5X; +3X, +3X5 + X4 +3X5 =0, [5X, +4X, +4X; +X, =1,
=X, +5X, +3X%; +5%5, =0, 4x, + X5 +3x, =0,
06X, —3X, — X3 —2X, + X5 =0; |3X; —2X, +6X; =2.

24

2X +2X, +5X5 +4X, +2X5 =0, [5X; +X, +2X; +X, =2,
=X, +3X, —2X5 =0, X, + X, + X3 +3X, =0,
—3X, + X, +6X; =0; X; — X, +3X; —2X, =-3.
25
3X, +3X, +2X; +4X, +5X5 =0, | X, +5X, +2X; +4X, =1,
2X, +4X, =2X5 =0, AX; = 2X, — X3 =X, =2,
X, +6X; +4X, — X5 =0; 3%, + 6%, —2X; =-3.
26
X, + 35X, +X5 +4X, +4X5 =0, [ X; +5X, +X5 +X, =1,
=X, +5X, +5X%; +3x, =0, —2X, + 3%, = 2X%; =1,

06X, —2X, + X3 +4X, +3X, =0; |3X, +4X; —X, =2.

27
4X, +3X, +3X; +3X, +2Xs =0, |5X; +2X, +X; +5X, =4,
2X, — X, +2X, = 2% =0, - X + X, =X, =0,
3X; +6X, +5X; + X, —=3Xs =0;  |6X, +5X, —2X; +6X, =-3.

28
5X; +2X, +X3 +5X, +3X5 =0, |2X +4X, +2X; +3X, =3,
X, — X, + X4 +5%X5 =0, — X, +3X, = X3 =X, =3,
2X +6X, +4X; + X, =X =0; =X +X; =6.




29
X; + 5%, +X3 +5%X, +5%X5, =0, [2X, +3X, +X; +2X, =2,
—-2X, + X, =0, —2X; —2X; + 5%, =1,
4X, +3X, +6X; +5%X5 =0; Xp +6X, + X5 + X, =2.
30

4X, +2X, +X; + X, +2X5 =0, X; +3X, +4X; +4X, =4,

3X; +2X, +5X; +3X, +4X5 =0, 14X, —X; —2X, =1,
X+ Xy =3X; + X, +3X5 =03 3X, — X, =-3.
IIpunoxenne S.
Ne A B
1 1 23 0 4
0 0 0 0 0
0 0 2 0 6
2 0 1 2 000
-2 3 0 1 2-4
1 -1 1
3 2 -1 10
2.0 0 4 0
0 0 O 0 0
4 1 0 -2 000
-1 1 O 1 23
0 -1 2
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|
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26 1 1 0 2-2 4
1 -2 3 3-1 0
0 -1 1
27 2 -1 4 -2 3
1 0 1 0-1
0 1 -2 2-1
28 4 5 6 0 00
7 8 9 7 1 2
1 2 3
29 3 2 =2 1 4
2 -3 2 -2 1
5 -1 0 -1 0
30 2 1 1 -5-4 2
0 3 -9 313 7
1 1 -1
IIpunoxenue 6.
01 02
1) a=(-2,3,5),m=(0,1,2), 1) a=(-3,2,4),m=(10,3),
m=(23,-1), p=(2,03). n=(2,-10), p=(3,-15).

2) m=(1,2,-3), i =(0,1,2),
a=2m+3n,b=n-m.
3) A(154:_1)a B(4:453)9 C(8945_1) .

a=5m+n,b=mn-2m.
3) A(27_173)5 B(Sa_1a7)a C(9a_1a3) .



|ﬁ|: H q|_23 Z(ﬁ’q):%
5) a=(2,3,1),b =(-1,0,1),
T=(22,2).

6) A(13,6), B = (2,2,1),
C(_lsoal) > D= (_43653) .

03

1) a=(3,2-1),m=(2,3,0),
=(0,5,6), p=(-1,2,3).
2) m=(1,1,3), 0 = (2,-1,4),
a=2m-n,b=2n-4m.
3)
A(-1,2,5), B(-1,11,5),C(~15,9)
4)a=p-37, b=p+20,
7= 1
p| = g
5) a=(1,52),b =(-1,1,-1),
€ =(LL1).

6) A(7,2:4), B= (7,_1,_2)7
C@331),D=(42)).

al=1. «(p.a)="

05
1) a=(2,-1,10),m=(-12,1),
m=(0,57), p=(3,2,-1).

2) m=(51-1),n =(123),

a=m+n,b =4m+2n.
3) A(0,1,2), B(3,2,5), C(7,2,1)..

4)ya=3p+q, b=p-27,
pl=4.[ai=1. 2(p.9)=7.

5) a=(3,2,1),b =(2,3,4),
€ =(3,1-1).
6) A(-1,2,6,), B =(2,-3,0),
C(-10,5.8),D=(-52,-4).

04
1) &= (5,L,-1), M= (3,2,1),
n= (055,2)5 ﬁ = (_2,355) .

2) M =(1,2,5), 1 =(3,2,1),
a=m+3m,b =6n+2m.
3) A(3,~1,2), B(6,~1,6), C(10,~1,2)
4) 5—35—2q— b =p+5T7,
_ 57z
[a]=. «(p.9)-
= (3,2,1),

|p|=4

5)a= (1,—1,—3),
c=(234).

6) A(2a1a6)5 B = (_1557_2)5
C(-7,-3,2),D =(-6,-3,6).

06

1) a= (57(),_2)7 m= (3:6a1),
m=(1,-13), p=(2,1,0),.

2) M =(=3,2,5), 0 =(1,2,-1),
a=2m-5n,b =5n—2m.

3) A(19_2>_3)7 B(4>_2a1)7 C(Sa_za_?’) .



4)ya=p-2q,b=2p+q,

p|=2.[q]=3, £(p.q)

5) a=(33,1),b =(1,-2,),
¢ =(LLD.

6) A(-1,-5,2), B = (=6,0,-3),
C(3,6,-3),D =(~10,6,7).

3

07

1) a=(33,-1), m=(1,2,3),
n= (_134,5): ﬁ = (2,_691) .

2) M =(1,3,-2), 0 =(4,4,3),
a=3m+2n,b=m-n.

3) A(0,5,2),B(3,5,6),C(7.5,2).

4)a=2p-7q, b=p+37q,
1P| =3.[a]=2., (. G)=§.
5) a=(4,31),b =(1,-2,1),
T=(2,2.2).

6) A(5,2,0),B=(2,5,0),
C(13234) s D= (_15191) .

09

1) a=(3,2,-5),m =(1,2.,3),
=(0,1,-8), p=(-3,2,1).
2) M =(2,1,0), 1 =(3,2,-1),
a=2m-n,b=2n-4m.
3) A(1,2,3), B(1,5,7), C(1,11,3).
4) a=p-47, b=3p+7,

:T'

341

& =(52-1).
6) A(O,~1,-1), B = (<2,3.5),
C(15_59_9) > D= (_13_6’3) .

08

1) a=(3,2,3),M=(-13,5),
=(012), p=(2,4,-7).
2) M =(8,~L1), 1 =(2,1,0),
a=>5m+2m, b =21 +3m.
3) A(25_354)9 B(256a4)a C(2a0a8) .
4)a=4p+7q, b=p-7,
Pl =7.]a]=2. A(M){.
5) a=(4,3,),b =(6,7,4),
€ =(2,0,-1).

6) A(2,—1,—2), B= (1a2a1),
C(5,0,-6), D = (~10,9,-7).

10
1) a=(1,2,-3), M=(2,5,-1),
i =(3,-14), p=(0,5,6).
2) M =(0,1,4), n =(-1,2,3),
a=3m+n,b =31-2m.
3) A(0,-2,5), B(3,-2.9), C(7,-2.5)
4)a=p+4q, b=2p-7q,
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pl=L[a]=2, z(m){.
5) a=(3,2,1),b =(1,-3,-7),
c=(1,2,3).
6) A(=2,0,—4), B=(-1,7,1),
C(4a_854) ) D = (15_4:6) .

11

1) a=(6,-1,7),m=(-12,0),
m=(3,56), p=(-23,-5).

2) m=(3,2,5),n =(0,1,3),
a=2m+n,b =4n+2m.

3) A(—1,0,2), B(_13356)a C(_15952)

4) @=3p+24.b=p-0,
pl=10.ja-1. £(p.0)-7-

5) a=(1,-2,6),b = (1,0,1),
C=(2,-617).

6) A(1,2,0), B =(3,0,-3),
C(5,2,6),D=(8,4,-9).

13

1) a=(-23,8),m=(13,5),
n=(4,-32),p=(-2,.7).

2) m=(1,3,2), 1 =(=3,2,0),
a=4m-n,b =4n—m.

3) A(0,-2,1), B(0,1,5),C(0,7,1).

4)a=2p+7q, b=p-2q,

[pl=7.a=2. £(p.a)-5-

5) a=(3,7,2),b =(-2,0,-1),
t=(2,2.)).

6) A(14,4,5), B = (-5,-3,2),
C(-2,-6,-3),D =(-2,2,-1).

12
1) a=(10,3), M =(-4,3,2),
m=(1,2,-6), p=(510).
2) M =(1,2,-1), A =(0,1,5),
a=m-3n,b =6n-2m.
3) A(7,1,-2), B(10,1,2), C(14,1,-2) .
4)a=4p-7,b=p+27q,

Ipl=5.[a]=1, 4(5,5)=%-
5) a=(6,3,4),b =(-1,-2,-1),
t=(2,12).

6) A(2,-1,2),B=(1,2,-1),
C3,2,1),D=(4.2)9).

14
1) a=(3,-1,4), m=(0,1,6),
m=(23,-1), p=(158).
2) M =(-1,2,0), F =(7,1,4),
a=2M+8M,b =47 +m.
3) A(6,0,1), B(9,0,5), C(13,0,1).
4)a=3p-0q,b=p+27q,



[pl=6,

al=7, A(ﬁ,a)=§-

5) a=(7,3,4),b =(-1,-2,-1),
T=(4,24).

6) A(1,1,2), B=(-1,1,3),
C(2,-2,4),D=(-1,0,-2).

15

1) a=(-1,4,3),m=(3,2,5),
m=(1,-3,2), p=(6,7,-1).

2) M=(-3,5,1),1 =(0,1,5),
a=2m+6n,b =30 +m.

3) A(1,2,-1), B(1,5,3), C(L,1 1,—1).

4)a=2p+3q, b=p-27,

p|=2.]a]=3, «(p.7)=

T

5) a=(5,3,4),b =(-1,0,-1),
C=(4,2,4).

6) A(1,L—-1), B=(2,3,1),
C(3,2,1),D=(59,-8).

17

1) a=(2,7.5),m=(-10.),
m=(3,15), p=(0,4,7).
2) M=(2,3,8), 1 =(-14),

a=2m+3n,b =3n-4m.
3) A(2,1,3), B(5,1,7),C(9,1,3).
4)a=5p+q, b=p-37,

[pl=1L

al=2, z(m)%-

- |
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[pl=3.Jal=4. «(p.3)=7
5) a=(2,3,2),b =(4,7.5),
€ =(2,0-1).
6) A(2,3,1), B =(4,1,-2),
C(69357) s D = (7:5,_3) .

16

1) a=(0,2,3),m =(6,1,3),
m=(=52,1), p=(3,-2,0).

2) M=(0,1,4),n =(1,2.8),
a=m-n,b=3m+2m.

3) A(0,-6,5), B(3,-6,9), C(7,-6,5) .

4)a=2p-7q, b=3p+0,

[pl=4.Jal=1. «(.a)=""

5) a=(3,10,5),b = (-2,-2,-3),
T=(2,43).

6) A(1,5,~7), B = (-3,6,3),
C(-2,7,3( ),D=(-48,-12).

18

1) a=(-3,4,6), M =(2,1,0),
n=(-125), p=(3,-14).

2) M=(0,1,5), 1 =(-14,3),
a=m-3n,b=6n-2m.

3) A(3,~1,2), B(6,~1,6), C(10,~1,2)

4)a=7p-27q, b =p+3q,

T

/=2, 4(m)=5-

1
27
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5) a=(-2,-4,-3),b = (4,3,)),
T =(6,7,4).

6) A(-3,4,—7), B =(1,5,-4),
C(-5,-2,0),D=(2,5,4).

19

1) a=(2,-5,7),m=(0,5,),
m=(-13,2), p=(3,2,-4).
2) M=(1,3,-5), 1 =(2,3,4),
a=m+2n,b=31-5m.
3)

A(7’_1,0)9 B(l Os_ 154)7 C (1 4:_ 150)

4) 5265‘@» 5:ﬁ+q_:
5) 5 = (451,2)a b = (_3,_35_3),
c=(212).

6) A(4,-1,3), B =(-2,1,0),
C(0,-5,1),D =(3,2,-6).

21

1) a=(-3,4,8),M=(23,-1),
=(1,0,2), p=(4,-5,6) .
) m = (-1,4,5), = (0,1,2),

=3m +5n, b =6m — .

3) A(5, 1), B(5,4,5),C(5,10,1) .

5) a=(3,1,-1),b =(1,0,-1),
T=(8,3,-2).

6) A(-1,2,-3), B = (4,-1,0),
C(2,1,-2),D=(3,4,5).

20

1) a=(3,2,-7), m =(13,5),
m=(2,-3,4), p=(0,1,6).

2) M=(1,2,-3), 1 =(4,3,2),
a=6m+0n,b =2m +4n.

3) A(=5,0,2), B(-2,0,6), C(2,0,2)

|p[=4
5) a=(4,1,2),b =(9,2,5),
¢ =(,1L-1).
6) A(1,—1,1), B =(=2,0,3),
C(2,1,-1),D=(2,-2,-4).

22
1) &=(-1,2,-3), M =(0,1,2),
n=(-5,-32),p=(4,2,-1).
2) m=(0,~-1,5),h =(2,4,6),
a=m-2n,b=4n-2m.

3) A(0,-3,7), B(3,-3,11),C(7,-3,7)

4) 5235+4q, E:q__ﬁs

| — T

) :234 s = —.
(.a)=3
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5) a=(3,4,2),b =(11,0),

5) g_: (5’334), b = (473,3)3 6 — (8,1 1’8)
€=058). 6) A(L0.2), B=(1,2,-1),
6) A(1,2,0), B= (1’_172): C(2,—2,1) , D= (2’1’0) .
C(O:L_l) 5 D = (_BaOal) .
23 24
1) a= (6,_1’3)a m= (2903_1)3 1) a= (31118)’ m= (0’1’2)’
n= (_1a255), E = (153’4) . n= (69_1:3)9 ﬁ = (553,_2) .
2) m=(13,2),n=(5,-1,3), 2) m=(0,1,4),n =(13.5),
a=m+3n,b=m-3n. a=m-4n,b =m+2n.
3) A(15_351), B(45_355)9 C(8:_3:1) 3) A(9,_151), B(12,—1,5), C(16a_1a1)
4)ya=7p+0q, b=p-37q, 4)a=p+3q,b=3p-7,
_ _ _ N\ 3z _ _ _ N\ 27
|p|:3, Q|:1, é(p,Q)zT |p|=3a q|=5, 4(paQ)=?
5) a=(4-1-6),b =(1,-3-7),  5) @a=(3,10),b =(-5-4,-5),
C=(2,-1,-4). T=(4,24).
6) A(1,2,-3), B=(1,0,1), 6) A(3,10,—1), B = (-2,3,-5),
C(_z,_1a6) s D = (05_59_4) . C(_650’_3) D D = (1’_1’2) .
25 26
1) g = (2:_131 0)5 m = (372,0)9 1) a = (17_273), m = (37475)9
n=(1,4,8), p=(-4,5,6). n=(1,6,-3), p=(0,1,2).
2) m=(-113),n=(2,14), 2) m=(1,2,-3),1=(0,1,4),
a=m-2A,b=2"-m. aA=Mm+60,b=6M+n.
3) A(1,0,4), B(1,3,8),C(1,9,4). 3)A(2,1,-1), B(2,4,3),C(2,10,~1)
4) @=3p+0, b =p-37, 4) a=5p-0, b=p+0,
_ _ __\N T _ | _ N Srx
|M=7,M=2,4(mq)=zv |M=5,M=3,Aimq)=7;-
5) a=(3,0,3),b =(8,L6), 5) a=(1,-1,4),b =(1,0,3),

¢ =(1,-1). T =(1-38).
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6) A(_152’4)5 B= (_1:_29_4)a
C(3,0.3),D=(7,-31).

27
1) @ =(-5,2,0), m=(L1,3),
n=(23,-1), p=(6,0.,5).
2) m=(1,3,-2), 1 =(1,4,5),
a=2m -3n,b =6n —4m.
3)
A(-2,1,0), B(-2,4,4), C(-2,10,0)
4) a=3p-4q, b=p+37,
[pl=2.[q]=3. «(p.7)=7"
5) a=(6,3,4),b =(-1,-2,-1),
c=(2,1,2).

6) A(1,3,0), B =(4,-1,2),
C(3,0,1) > D= (_453:5) .

29
1) a=(2,4,-1),m =(0,1,3),
n=(114), p=(-3,2,5).

2) M =(0,1,-4), " =(8,2.,1),
a=2m+n,b =3m+6m.
3). A(1,-3,0), B(1,0,4), C(1,6,0)

4)a=2p+3q, b=p-27,
[Pl=2.[a]=1, £(p.q)=3-

5) a=(-3,3,3),b =(-4,7.,6),
¢ =(3,0,-1).

6) A(-3,-5.,6), B = (2,1,—4),
C(0,-3,-1), D =(-5,2,-8).

T

6) A(O’_3’1)5 B = (_4’132)5
C(za_las) s D= (3317_4) .

28

1) a=(-6,2,), m=(2,2,-1),
f=(3,-4,0), p=(157).

2) M=(5-13),7 =(4,4,2),
a=3n+2m,b=2m-n.

3) A(1,9,0), B(1,12,4), C(1,18,0).

4) 5265_(1 b qu'i‘ﬁ,

S S — .5

[pl=-Jal=4. 2(p.a)="".
5) @=(4.L1),b =(-9,-4,-9),

€ =(6,2,6).

6) A(=2,—1,-1), B=(0,3,2),
C(3,L,-4),D =(-4,7.3).

30

=(-3,0,5), M =(3,2,-1),

0,1,3), p=(7,5,2).

2) M=(-1,2,3), 1 =(2,3,5),
a=4m+n,b =2 +3m.

3) A(7,0,-1), B(7,3,3), C(7.9,~1)

4)a=2p-3q, b=5p+q,
[pl=1.lal=2, «(p.a)=7

5) a=(-7,10,-5),b = (0,-2,-1),
€ =(-2,4.).

6) A(27_47_3)a B= (59_630)7
C(-13,-3),D =(~10,-87).

1)

=



